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Divisjon (2 siffer)

StudentName:

30+5 =

69 +3 =

5+5=

72+4 =

68 +2 =

54+3 =

24 -8 =

14+7=

14+2 =

66+ 2 =

32+4 =

80+5 =

42+7 =

78+3 =

52+4 =

69 +3 =

56+7 =

96+ 8 =

98 +2 =

16 +2 =

48 -6 =

80 + 4 =

72+4 =

40+2 =

12+6=

ExamDate:
80+2 = 27+3 =
804 = 99+3 =
45+3 = 98+2 =
20+5 = 48+8 =
70+7 = 24+6=
20+2 = 50+5 =
88 +2 = 90+ 5 =
30+2 = 20+4 =
54+2 = 64+ 4 =
78+2 = 90+2 =
30+6= 68 +2 =
20+5 = 86 +2 =
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ExamScore:
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X =3 15

Divisjon (2 siffer)

StudentName:

30+5=6

69+3 =23

5+5=1

72+4 =18

68 +2 =34

54+3=18

24+8=3

14+7=2

14+2=7

66 +~2 =33

32+4=38

80+5=16

42+7=6

78 +3 =26

52+4=13

69 +3 =23

56+7 =38

96 -8 =12

98 +2 = 49

16+2=38

48 +6 =8

80+4 =20

72+4 =18

40+2 =20

12+6=2

80+2=40

80+4 =20

453 =15

20+5=4

70+7=10

20=2=10

88 +2 =44

302 =15

54+2=27

78 +2 =39

30+6=>5

20+5=4
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ExamDate:

ExamScore:

27+3=9

99 +3 =33

98 +2=49

48+8 =6

24+6=14

50+-5=10

90+5=18

20=4=5

64+4=16

90+2 =45

68 +2 =34

86+2=43
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